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ACCOUNTING AND FINANCE
First I (Cost Accounting)

Time Allowed : Three Hours Maximum Marks : 100

Part - A (97-31) (Marks ; 20) |
TN W T B A B U B I 20 TRl 9 e 78 8W Ak !
I Y & 35 qAE § |

Part - B (-4) (Marks : 20)
| Oig ge PR | JET S TR 50 e I iftr 8 B =y | |l g
@ IH TIH &

Part - C (=) (Marks : 60) |
AT SHE F T I T 0, TA G we PRI | T F S 400 AR
ﬁaﬁm?ﬁaﬁmﬁvmﬁrqﬁ%ww%i

Part - A (IR —3)
1. What is meant by Process Costing ? X521 TRezais ¥ 1 a:rm%’
2. Name any five methods of Costing.
ST SETHA F B G IS 6 A T |
3. What do you understand by opportunity cost ?
3T S7FER AT R 0 T € ? ‘
4. Give formula of Re-order level. J: STG¥ TR A Hisel
5. Why overtime is necessary? Give any two reasons. |
mﬁmww%?wamm.
6 Give formula for absorption of overheads on the basis of percentage
. on prime cost method. .
Wmmmmﬁﬁ#mwmﬁwﬁ#mmqgaﬁm
?
7. What is meant by Batch Costing ? FHE ¥ fafaq = ;:m g2
8 What is inter-process profit ? W—WW foQ T:b'@'ﬁ ?
9- Name two items oOf expenses which are included only in financial
%%ﬁﬁ%ﬁﬁﬂmﬁﬁﬁ#m@u
10 What is meant by Supplementary Cost ?
& T | F1SRE 2?2
Part- B (A1—9) -
11 Give formula of Minimum Stock Lével and Maximum Stock Level.
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A R WR au1 Afgwan ©is T ga Qi)
Following data are available from lhc books of laolory

Rs.
Production cost in the year 2013 2,50,000
Opening stock of finished goods 25,000
Closing stock of finished goods 20,000
Selling and distribution overheads 5,000
Sales . 3,00,000
What will be the amount of Gross Profit and Net Profit ?
TS FREA FI Tl § Frefafas afed soasy € -
L0
99 2013 ® S APl 2,50,000
TR wrer w1 IRhvE ©iE 25,000
TR ¥ 61 S wiE 20,000
Tosra @& faaro suReaa 5,000
fosra 3,00,000

FAZT Thel T Y& o & ufr s Erf ?
What does the following jounal entry indicate:
frefafaa sre wfafe = 3fie o 2-
Abnormal Effective A/c  Dr.

To Normal Wastage A/c
Pss journal entries in financial books under non- integral account-

. ing system for the following transactions :

R-gwrefa @) & Siava faxia g | ﬁwaamﬁé\aﬁam
FHifera-
(a) Raw material purchased Rs. 10,000 on credit -
(b) Paid cash to creditors Rs. 10,000
(c) Materials issued to production department Rs. 5000.
Difference between Direct Cost and Indirect Cost.
W T T ST T A S Sared |

* Part-C (9FI-9)

Unit-I 5D

What do you understand by ABC method of Material Control ?
Explain with illustration. ¥rTEit Fra=107 St T+fT. 6. woredt & amy @@

- g § 7 ITET A §UTE Hiod |

Or
The wages in a factory are paid to the workers under Rowan Pre-
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VNIRRT
mium Bonus Scheme. Workers also get dearness allowance of Rs.

1,200 per week of 48 hours. .
A worker’s basic wage is Rs. 200 per day of 8 hours and his time
sheet for a week is summarised below.

Job No. Time allowed  Time taken
284 25 hours 20 hours
292 30 hours 20 hours
Idle time (waiting) 8 hours

‘ Total © 48 hours
Calculate the gross wages he has eamed for the week.

o FRER § S @ e Aa iEw G A § st d
AR | = 1,200 %. Wi T (48 w02 F.fe) ¥ fewa A WEME
o o SR ¥ | T 9 weigh 200 %, WRRA (T i A 8 W
¥) 3w TaE ¥ f Su% we- T % anw Fefataa @-

S e femmnarm  femnTE EHg
284 ' 25 U 20 §%
292 - 30 WU 20 gU&
HIdE T (Weter) 8 wue
_ @ 48 EUR
T W ¥ AT STH g FAE THa oGl Fagd |
Unit-1I (SR-10)

A machine costing Rs. 28,700 excluding installation cost of Rs. 300

has an anticipated life of 10 yeas with residual value of Rs. 500. Itis

depreciated on straight line method. From the following partifulars,

compute machine hour rate on the basis of anticipated working hours:

Q) Rent and rates for the factory is Rs. 6,000 per-annum and
10% of the effective area is occupied by this machine.

@) Insurance for this machine is Rs. 450 per anhum.

(iii) Repairs and maintenance for the whole factory for the year
is Rs. 2,000; 25% of this amount relates to this machine.

@av) Consumable stores, etc, attributable to this machine for the
whole year is Rs. 110.

) Total of production services is Rs. 5,000, 20% of this .
amount is applicable to this machine.

(vi) Power cost is Rs. 0.50 per working hour.

(vii)  The year contains 250 working days of 8 hours each but it
is anticipated that the machine will remain idle for 20% of
this time.
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___
T T vt e 28,700 & &, Fe wET 7@ ¥ 300 %

aftsfer et &, o1 S e e A qu ST AEd S00 T ¥

=¥ Wt Y vght @ efee e S & 1 fre famRer aen StgAiia

FTHTE HUS} ¥ YR T A 9T A o~

i) T = Rl A & . 6,000 TR & qe yMIEeR &
1 10 WRIYE 907 39 W R AW ISR

(ii) 7g T = e S E. 450 B |

(i) o N T HRET I TR 91 IR R 2,000 FAEL
forad 25 whrer 39 WA @ Hafyd B

Gv) T W RS # g weni % T 110 FHEC

V) Fol ST qad T 5,000 T4 gu 5 & 20 i@

. WY AHEraa g |

(vi) v 0.50 W Tv2 F ST A ¥ | |

(vii) aHH 250 %7 feam & aon wfafe 8 woe F SRR, WY U

W%ﬁZOWWWW@HI :

Or

Draw- a complete specimen format of a cost sheet with imaginary

figures. o _ ‘

ﬁwﬁﬁmwmmmﬁwmm
Unit-IN (351D ’

Explain normal wastage and abnormal wastage, and abnormal

effectives. How should these be dealt within process accounts? -
A &3, Wmammmmahmmﬁlmmﬁm

=% oy 5 aER foRar ST 22

Or
From the following particulars, find out the profit as per costing
records and prepare a statement to reconcile this profit with the profit

as disclosed by financial accounts: o . .
Trading and Profit and Loss Account for the year ending 31 st March,

2012
Rs.

%mateﬁals used 2.00,000 By sales (10,000 units) 4,00,000
To direct wages 1,00,000

To works expenses 60,000

To office expenses 18,00

To selling and distribution

expenses 12,000
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Tonet profit 10,000 o Lo T
4,00,000 4,00,000

The normal output of the factor is 15,000 units, fixed factory

overheads are Rs. 36,000. Office overheads are fixed. 50% of selling

and distribution expenses vary in the ratio of sales.

Frfafaa aeli & snur w e oral gm0 wefifa @ 3 Fifed @

T TR T e 79 @ 1 e fadia Sl gro wefvia andi 9

HieT- ‘ .

31 WTE, 2012 ) TG ¥R 91 99 ¥ fag =R wd am-wf

®. ' A,

WIS wIt 2,00,000 fasra (10,000 FFEA) 4,00,000
TEF GG - 1,00,000
Fr feaw . 60,000
HACE =g 18.00
fara wd fqau = 12,000
V& 10.000
4,00,000 4,00,000

FREM F THR I 15,000 THEA § | R FHIE@m IRy
36,000 %. € | e SuReqy frer § 1 faspy wd fyaeor sl =7 so
wirv@ s fesnt % srura # wRaffa dar
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